Multiplication de Trois Binomes (J)

Simplifiez chaque expression.

1. (3d* + 7d*)(d* + 3d)(—4d + 7)

0. (8t 4 5t3) (=2t + 3) (4t + 4¢3

3. (—2a* + 2a*)(8a* + 7a®)(—3a + 7)

L (= = 3ch) (—2¢% — 3¢)(—6¢% + 5e)

Ot

(9m? — m?)(=8m* — 8m?)(5m* + m?)

6. (8¢ — 4)(—3¢° — 8¢")(—¢* + 7q)

3

(=90 + 2)(=5v? — v)(—v® — 4?)

8. (4c+ 3)(4c” — 9ch) (—=7c* 4 5c?)

9. (=5h +7)(3h° — 9h*)(2h + 4)

10. (903 — Tn?)(—=4n® — 4n*")(2n — 1)
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Multiplication de Trois Binomes (J) Réponses

Simplifiez chaque expression.

(3d* 4 7d%)(d? + 3d)(—4d + 7)
= —12d" — 43d° + 28d° + 147d"

—_

)}

(8t 4 5%) (=2t + 3) (4t* 4 4t°)
— 647 — 85 £ 1167 + 60t°

w0

(—=2a* + 2a*)(8a* + 7a3)(—3a_+ 7)
— 48a° — 118a® — 284" + 9845

(—c® — 3c")(—2¢* — 3¢)(—6¢* + 5c)
= —12¢" — 44¢® — 9¢™ + 45¢°

(@

(9m? — m?)(=8m* — 8m?)(5m* + m?)
= —360m" — 392m' — 24m° + 8m?®

D

(8¢ = 4)(—=3¢° = 8¢")(—¢* + Tq)
= 24¢% — 116¢" — 396¢° + 224¢°

=~

(=90 + 2)(—50* — v)(—v® — 40?)
= —450% — 1790° + 60" + 8v*

(e +3)(4¢ — 9N (=Tct + 5¢d)
= —112¢" + 248¢7 + 69¢° — 135¢°

00

e
N

(=5h +T7)(3h° — 9R*)(2h + 4)
— —30h" + 72h° 4+ 138h° — 252h*

10. (9n® — 7n?)(=4n® — 4n*)(2n — 1)
= —72n" 4+ 20n° + 64n" — 28n°
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